ANSWERS TO ENERGY DIVISION’S QUESTIONS PRIOR TO 


LOAD PROFILE ELIGIBILITY WORKSHOP 











1.  	What are the costs associated with hourly interval metering?





The installed cost of a basic interval meter for a customer with demand below 200 kW is between $479 and $501. These figures are from the Customer Choice-Service Fees and ESP-Service Fees Schedules that were filed by SCE on February 25, 1998 with the CPUC.  Price ranges are due to the cost of installation, which varies by geographic zone (zip code). 


2.  	What is the likely cost impact of imposing the hourly interval metering requirement on customers whose maximum demands fall within the 20 to 50 kW range?





For SCE there are around 50,000 customers in the 20-50 kW range. At the above prices the total cost of hourly interval metering would be around $ 25 million.  





How many customers in the 20 to 50 kW range are on load profiles, and how many have hourly interval meters?





For SCE there are around 3,000 customers in the 20 to 50 kW range who chose direct access as of September 18, 1998. Of these 3,000 customers approximately 100 have switched to hourly interval meters.





Should the load profiles for these customers be extended or discontinued in light of the metering situation?





Although use of hourly interval meters is preferable because of the accuracy in assigning energy costs to different customers, we support extending the interim load profiling eligibility for these customers until the end of 1999. Issues regarding any further extension of eligibility should be revisited in a workshop during 1999. Since certainty about the cut-off date of switching to interval meters is very desirable for timely planning of the switch and appropriate signals to market participants, such a workshop should take place in mid 1999.





Should hearings be held to resolve this issue?





We do not see a need for hearings at this time. 





�
What are the inconsistencies between the UDCs in the 20 kW load profiles threshold?  What do parties recommend as to how these inconsistencies should be resolved?





SCE uses rate schedules to define the thresholds since this simplifies administration and prevents customer confusion. For example, GS-1 customers are below 20 kW, while 


GS-2 customers are above 20 kW. A customer with peak demand greater than 20 kW in three out of twelve months of the year is placed in the GS-2 rate schedule. Inconsistencies in threshold definitions of rate schedule “break points” among UDCs are not material. Moreover, SCE recommends no change during the rate freeze since a cha
